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7. ln a frequency curve of scores, the 11. If X, and X2 are two independent
mode was found to be higher than Poisson variates with means 1 and 2

the mean. The distribution would respectively, then P(Xr +X2 <4) is
therefore be

(A) sYmmetric (A) rge- s

(B) normal (B) 4e-3

(C) positively skewed

(D) negatively skewed 
(c) 3e- 3

g. The probability that a leap year 
(D) 12e-3

selected at random will contain
54 Sundays is

12. I,et Xbe a random variable following
(A) O normal distribution with mean zero

Z and variance 9,lL a = PIX 2 3), then
(B) :

.^: 

" 

' Pr(lxl< s) equals

(c) = (A) a
o

rDt 54 (B) 2a
365

(c) L-2a

9. If two observations are l0 and -10,
then their harmonic mean is (D) L-a

(A) 10

(B) 0 13. The salary of workers in a factory

(c) 6 follows a binomial [soo, ]) ai"oi-\ '6l
(D) 5 bution. What will be the mean

and standard deviation of the

10. If a coin is tossed until a head distribution?

appears, then the expectation of the
number of tosses required is (A) 4O and 41'6

(A) 3 (B) 5o and S.S

(B) 2

(C) 1 (C) 50 and 41'6

(D) 4 (D) 5O and 6'4

AAO/APDCL/P-il12O2-A lP.T.O.



14. If a random variable X takes the
values l, 2, 3,'.. with the probability
function

Nf(rl= i-; r = l, 2, 3, ..., -V

then the value of l, is

(A) log"2

(B) log, I

(C) log,5

(D) log, 10

15. The probability of rejecting an
alternative hypothesis, when it is
false, is

(A) type I error

(B) type II error

(C) level of significance

(D) power of tJ:e test

16. For two events At and A2, if
p@i=?, p@rt=Z and

P(A, nA2l= 1, then A1 and A2 are

(A) mutually exclusive and
independent

(B) independent but not mutually
exclusive

(C) mutually exclusive but not
independent

(D) neither mutually exclusive nor
independent

AAO/APDCLIP-rU2O2-a

l?. "lf X is a continuous random
variable with mean p and
variance 02, then for any positive

number h P{lX-rrl 2 ko1 < 1."' k2'
This inequdity is lorown as

(A) Lyapunov's inequality

(B) Khintchine's inequality

(C) Chebyshev's inequality

(D) Cramer's inequality

18. The marginal distribution of a subset
of a multivariate normal random
vector is

(A) uniformly distributed

(B) exponentially distributed

(C) normally distributed only under
certain conditions

(D) always normally distributed

19. A random variable X with moment-
generating function

M x,t= (3 . * ",)

is distributed with

12(A) mean = a and variance = l39
12(B) mean = j and variance = a39
12(C) mean =; "rrd 

variance = I

ot
(D) mean = i *O variance =;



2[. Let X = (X1, X2l be a bivariate
normal random vector with mean

/5\
vectorp = [.rJ*O 

covariance matrix

Then tJ:e marginal distribution of
Xr i"

(A) /V(s, 9)

(B) rv(s, a
(c) N17,9l

(D) N(7,41

2L. ln a one-way ANOVA, ttre between
group variance' represents

(A) variability within each group

(B) variability due to the factor
being tested

(C) total variability in tl:e data

(D) Variability is not explained by
the model

22. lf we have a sample of size n from
a population of /V units, then the
finite population correction is

{A) iv- I
iv

(B) #
(cl N -n

ff

(D) /V* n
n

AAO/APDCLIP-tU2O2-A

23. If the observations recorded on five

sampled items arre 3, 4, 5,6,7, then
the sample variance is

(A) I

(B) 0

(c) 2

(D) 2.s

24. ThLe sampling error can be reduced
by

(A) applying cross-sectional study

(B) eliminating ttre errors

(C) increasing the sample size

(D) decreasing tl:e sample size

25. Under proportional allocation, the
size of the sample from each
stratum depends on

(A) total sample size

(B) size of the stratum

(C) population size

(D) All of the above

26. Which one of the following non-
parametric tests is analogous to the

. chi-square test of goodness of frt?

(A) Mann-Whitney U test

(B) Kolmogorov-Smirnov test

(C) Wilcoxon test

(D) Median test

x=(: ;)
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27. If there are l0 symbols of two tJrpes,
equal in number, then the maximum
possible number of runs is

(A) 2

(B) s

(c) 8

(D) 10

Consider a contingency table of
order (4 x 3). The degrees of freedom
for the chi-square statistic will be

(A) 6

(B) 8

(c) e

(D) L2

The ordinary sign test considers the
differences of ttre observed values
from the hypothesized median in
terms of

(A) signs only

(B) signs and magnitude

(C) magnitude only

(D) None of the above

24.

29.

3O. The sum of tlle differences between
the actual values of Yand its values
obtained from the fitted regression
line is always

(A) minimum

(B) positive

(C) ?r-ro

(D) negative

AAO/APDCLIP-IU2O2.A 2A

Given x=2A+4 and y=lex+ 6 are
the lines of regression of Xon Yand
Y on X respectively. If the value of r
is O'5, then find the value of lc.

(A) 0.s

(B) 0.32s

(c) o.2s

(D) 0.12s

The significance of the simple
correlation coellicient can be tested
by applying

(A) Ztest

(B) t-test

(C) 12-t"st

(D) Ftest

If the correlation coefficient between
X and Y is 0'3, tl:en the value of
the correlation coeflicient between
2X arld 3Y is

(A) 0.3

(B) 0.18

(c) 0.ls

(D) 0.s

If the correlation coefficient r = Q
then the two lines of regression

(A) wiU be coincident

(B) will be parallel to each other

(C) will be perpendicular to each
other

(D) can be at any angle with each
other

31.

32.

33.



35. tf 7 =25, ! = l2O, bry = 2, then what
is the value of r when U= 130?

(A) 60

(B) 4s

(c) 2s

(D) 20

36. For a normal PoPutration, the

probability of any ,Point falling
outside the 3o control.limits is

(A) O.0O2s6

(B) O.O27

(c) o.oo27

(D) O.27OO

1

3?. Which of the following is the control
- chart for fraction defective?

(A) u-chart

(B) pchart

(C) c-chart

(D) d-chart

38. For a given lot size, a single sampling
plan is completely sPecified bY

(A) sample size alone

(B) acceptance number alone

l. (C) Both sample size and
t- acceptance number

(D) Neither 'samPle sizn nor
acceptance number

AAO/APDCLIP-tU2O2-A

39. The Sample Registration Scheme
(SRS) is the main source of
information on

(A) morbidity rate

(B) mortality rate

(C) fertility rate

(D) birthrate and death rate

.tO. If we have information on the last

census population, and the number
of births, deattrs and migrations for
a region in a given Period, tJlen

population at time tcan be estimated

by using the formula (in usual
notations)

(A) k = Po +(B-D)+(I-E)

(B) Ft=Po+(B-D)+(E-I)

(c) 4 = Po(B- D)+(I- E))

(D) Ft = Po + lB- Dl + lI- El

41. If l, is the number of persons living
at age x and l, is the average size

of the cohort of 19 Persong between

ages x and (x + 1), then the relation
between t, and .Lr is

(A) L* = f,+t*

(B) L* = it*
(C) 7* = lx+ i

(D) L* =lx *)$**rl

29 lP.T.O.



42. lf Laspeyres' price index is 324 and
Paasche'g price index is 144, then
Fisher's ideal index is

(A) 468

(B) 216

(c) 108

(D) 30

43. Index numbers are expressed in

(A) percentages

(B) ratios

6.
(C) degrees

(D) absolute values

4. A family spends on food, housing
and clothing in the ratio 5 :3 :2.lf
it experiences the rise in prices of
these heads by 4oo/o, 3Oo/o and 2Oo/o

respectively, then the family budget 47'

will be increased by

(A) 3Oo/o

(B) 33%

(C) 27o/o

(D) None of the above

AAO/APDCLIP-LU2O2-A 30

Which of the following is not correct
about a Randomized Block Design
(RBD)?

(A) Every block is randomized
separately

(B) Every treatment must appear
at least once in every block

(C) Blocks are used to remove tlhe
effects of another factor (not of
interest) from the comparison
of levels of the primary factor

(D) Blocks should contain experi-
mental units that are as
different as possible from each
other

Which of the following is a contrast?

(A) 3T1+72-3Tr+To

(B) T, +2T, -2T" +To

(C) \-3Tz-Tr+3To

(D) \*Tz+T"-T*

In an RBD, having 5 treatments and
4 blocks, a treatment is added. The
subsequent increase in error d.f.
wiU be

(A) 4

(B) 3
{

(c) 2

(D) 1

45.



... 48. In a 5x5 Latin square witll one 51. In a Linear Programming Problem

missing value, the totals of the row, (LPP), the feasible region is

column and treatment having one

missing observation are 25,40 and
35 respectively, and the total of all 

(A) the set of all possible solutions

the available observations is 100.

The estimate of the missing value is E) the area under the objective
function curve

(A) ls
(C) the set of solutions that satisff

(B) 20 all constraints

(C) 25 (D) the region where the objective
function equals zero

(D) 30

49. Local control is a device to maintain 52' which of the following statements

are falrc?

5O. The elements of the control block in
a confounded 24-experiment are III. Every linear system has either

(A) homogeneity among blocks

(B) homogeneity within blocks

(C) Both (A) and (B)

(D) Neither (A) nor (B)

(1), bc, acd, abd. Then tle
confounding subgroup is

(A) lI, ABD, ACD, BCI

(B) lI, ABC, ABD, CDI

(c) lI, ACD, BCD, AEI

(D) lI, AEIC, BCD, ADI

AAO/APDCLIP-L[|2O2-A 31

I. A linear system with more

equations than unknowns is
always inconsistent.

U. A linear system with more

unknowns than equations
always has infinitely many

solutions.

O, I or infinitety many solutions.

(A) I and II

(B) I and III

(C) II and III

(D) III only

lP.T.O.



53. The correct statement regarding the
dual problem in an LPP is

(A) the dual of the dual problem is
the primal problem

(B) the dual problem always has a
greater objective funetion value
than the primal problem

(C) the dual problem cannot be
solved using the simplex
method

(D) the dual problem has more
variables tJ:an the primal
problem

54. An objective function in a general
LPP is a

(A) constant function

(B) linear function

(C) non-linear function

(D) None of the above

55. The range of Bernoulli random
variable is

(A) the set of real numbers

(B) the set of integers

(c) {0, 1}

(D) the set of positive integers

AAO/APDCLIP-rrl2O2-A

The ratio of between sample
variance' and \rithin sample
variance' follows

(A) .Zdistribution

(B) 12-dist ibution

(C) t-distribution

(D) F-distribution

A random sample of sizn 2O from a
normal population has mean 42
and variance 25. What would be the
degrees of freedom for 72?

(A) 24

(B) 20

(c) Le

(D) 7

The mean difference between 9 paired
observations is 15.0 and the
standard deviation is 5.O. The value
of the statistic t is

(A) 27

(B) e
(c) 3

(D) o

The variate F. (with usual notations)
is defined as

56.

s7.

58.

(A)

(B)

(c)

(D)

p=x?lur
xltvz

s2F=*
S;

F=e2z

All of the above

32



60. An experimenter measured the IQ of
30 children. He then ordered the
data and ranked the children from
30 (most intelligent) to 1 (least
intelligent), thus creating a new
variable. The new data set would be
of type

(A) nominal data

(B) ordinal data

(C) interual data

(D) ratio data

61. If a moderately skewed distribution
has mean 3O and mode 36, then the
median of the distribution is

(A) 30

(c) 32

(B) 28

(D) 34

62. I,ct

flx, gl=L, - x < g(r, O<x< 1

= O, otherw'ise

Ttren tJ:e marginal density function
ofXis
(A) 2x

(B) 1

1(c) ;x
(D) 2s

63. If f,r = fl2 = & then tl:e degrees of
freedom to test for the difference of
means of two samples of sizes q
end n2 respectively is

(A) n1+n2 -2
(B) n, +n2 +2

(C) 2n-2
(D) 2n-r

AAO/APDCLIP-rU2O2-A

64. The relation between tIle statistics f
and F is

(A) tr, = Fil, n1

(B) t3 = \r, nt

(c) ti = \2, nt

(D) tn = \t, n1

65. The distributions possessing the
lack of memory' property are

(A) gamma distribution and beta
distribution

(B) geometric distribution and
hypergeometric distribution

(C) geometric distribution and

(D) geometric distribution and
exponential distribution

66. The number of all possible samples
of size 2 that can be drawn from a
population of 4 units by SRSWR is

(A) 16

(B) 12

(c) 8

(D) 6

67. The total number of ways in which
3 balls can be arranged in 2 cells is

(A) 8

(B) e

(c) 6

(D) 3

lP.T.O.33



68. A committee of 5 members is to be
formed from a group of 7 men and
4 women. The probability that the
committee will have exacfly 3 men
and 2 women is

rA) 315
924

71. The family of parametric distributions,
in which the mean is always less
than its variance, is

(A) Poisson distribution

(B) binomial distribution

(C) negative binomial distribution

(D) geometric distribution

72. A box contains 4 green and 3 white
balls. 1\ro balls are drawn succes-
sively. What is the probability that
the second selected ball is white
given that the first ball is green?

1(A) ;
3tRt1-' 7

4(c) ;
1

(D) ;

73. To which component of tJle time
series is the term tecession'
attached?

(A) Trend

(B) Seasonal

(C) Cyclical

(D) Irregular

74. T}re death rate of babies under
one month of age is called

(A) neonatal mortalit5r rate

(B) infant mortalit5r rate

(C) maternal mortalit5r rate

(D) foetal mortalit5r rate

v

(B) #
(c) *
(D) ;

69. For an exponential distribution witl:
probability density function

1

f(xl=)e-x/2, x2O

the mean and variance are

(A) (*,r)

(B) (r,+)

(c) (;,+)

(D) (2,41

7O. For normal distribution, the ratio of
quartile deviation, mean deviation
and standard deviation is

(A) 10 : 15: 12

(B) 1O : 12: 15

(C) 12: l0: 15

(D) 15 : 12: 10

AAO/APDCLIP-[I|202-A 34



75. A life table is also called 79. The probability of accepting a

(A) survival table lot with fraction defective P1 is
known as

(B) mortality table
(A) type I error

(C) life expectancy table
(B) producer's risk

(D) life history table
(C) consumer's risk

76. standardized death rates are (D) acceptamce value
particularly useful for

(A) comparing the death rates in 8O. The moving average method of frtting
males and female" trend, in a time series data,

(B) presenting the actual mortality removes the effect of

situation of a place H long-tenn movements

(c) comparing the death rates of F) short_tenn movements
two regions

(D) A11 of the above (c) cyclic movements

(D) None of the above

77. lf the total fertility rate (TFR) is

81. Simpson's |rd rule is based on the

(A) a straight line

(B) a quadratic polynomial

(C) a cubic polynomial

(D) a logarithmic function

zE. consumer price index number is t2' The 
,relation 

between the operators

constructed for 
- v' A and E is

(A) thehigherincomegrouponly (A) V+E='E+v=A+E

2250 per thousand for a population
and the proportion of female births
is 46.20/o, then the gross reproduc- approximation of the integrand by

tion rate (GRR) is

(A) 1.03e

(B) 10'3e

(c) 1o3.e

(D) 103e.s

(B) factory workers only

(C) all people

(B) YIE=Elv=Ela

(C) V.E=EV=A

(D) a well-defined section of people (D) None of the above

AAO/APDCLIP-I]12O2-A 35 lP.T.O.



Reduction in the size of a test results
in

(A) decrease in its power

(B) increase in its power

(C) Either increase or decrease
its power

(D) No change in its power

84. If l,c represents the number of
people living at age x, then find l"
for x = 22 using the data given
below :

(A) 22

(B) 2t

(c) 20

85. If X- NlO,2) and y- iy(O, 3), then
X -Y follows

(A) iv(o,3)

(B) iv(o, r)

(c) Nlo,2l

(D) /V(0, s)

AAO/APDCLIP-il12O2-A

If for a binomial distribution Bln, pl,
mean =4 and variance =4/3, then
P(X> Q is equal to

rA) (?\u
\3/

(c) (:)'

Variance of 7 under random
sampling, proportional allocation
and optimum allocation hold the
correct inequality as (in usual
notations)

(A) Vr.rr(fl < Yprop(A < Yopt (E

(B) V."o(E ) Vprop(E > Vopt (O

(c) vr*(fl S vopt (fl < vprop(E

(D) V""rr(E 2 Vopt (=) > Vprop(D

n o=l a x+21

l2x-3 "*tl 
i" s5rmmetric'

then the value of r is

(A) 2

(B) 3

(c) -1

(D) s

(B) *(3)'

(D) - (3)'

87.x lo 15 20 25
t, 42 34 25 18

36



89. The square matrix P is nilpotent if

(A) Pm =I

(B) Pm =O

(c) Pm =P

(D) None of the above

(where m is any positive integer)

90. lt pr is a transpose of a square
matrix P, then

(A) lPl'l= I

lPl

(B) lPrl=-lPl

(c) lPrl=lPl

(D) pr =lpl2

91. The value of the determinant

lo c bll-ll-c o al

l-b -a ol

is

(A) 0

(B) bc

(C) abc

(D) 1

AAO/APDCL/P-trl2O2-A

92. If for two attributes A and, B, the

relation (Bl =ry holds, then

the attributes are

(A) independent

(B) positively associated

(C) negatively associated

(D) No conclusion can be made

93. Consider tJle following information :

# Fathers with dark eyes and
sons with dark eyes = 50

# Fathers with dark eyes and
sons with not dark eyes = 79

# Fathers with not dark eyes and
sons with dark eyes = 89

# Fathers and sons with not dark
eyes = 782

The value of the coeffrcient of
association Q in this case is

(A) 1.438

(B) 0.6e

(c) -1.438

(D) -0.6e

94. If lO is the mean of a set of 7
obserwations and 5 is the mean of
a set of 3 observations, then tJre
mean of the combined set would be

(A) 1s

(B) 10

(c) 8.s

(D) 7.s

37 lP.T.O.



95. In a sample of 1O00 people in a city,
540 are rice eaters and the rest are
wheat eaters. To test the hypothesis
that both rice and wheat are equally
popular in tlle city, the value of the
test statistic to be computed is

(A) 0.28e

(B) 0.34s

(c) 28.e

(D) 2.s3

96. The rank of the matrix

is

(A) I

(B) 2

(c) 3

(D) 4

97. The normal distribution is a limiting
case of Poisson distribution when
the parameter )" satisfies

(A) I+0

(B) l, -r o

(c) l. -+ -
(D) I -r --

AAO/APDCLIP-rU2O2-A

Suppose we have a completely
randomized design with 4 treatrnents
and 14 plots in total. Given that
treatment sum of squares and error
sum of squares are 231 and 30O

respectively. Ttren the value of the
test statistic F will be

(A) O.77

(B) r.e2s

(c) r.734

(D) 2.s6

Student's t-test is applicable only
when

(A) the variate values are indepen-
dent

(B) the variable is distributed
normally

(C) the sample is not large

(D) All of the above

There is 8O percent chance that a
problem will be solved by a student
of Statistics and 60 percent chance
that it wiU be solved by a student
of Mathematics. If tJ:e problem is
given to two such students, what is
the probability that it will be solved?

(A) O.e2

(B) 0.7s

(c) 0.48

(D) 0.14

98.

roo.

99.

l-o d -il
a=l-i o i I

It -i ol
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